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6.2 - Geometric Series
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Example #3: A phone tree is used to contact a large number of people in a short period of time. Ina
particular phone tree, the first person contacts 3 people, who each contact 3 more people, and so on

a) Draw a diagram and write a series to represent the total number of people in the phone tree
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b) How many people are contacted after 6 levels of the tree (assuming the first level has 1 person)?
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c) After how many levels will the total number of people contacted reach 2,391,4847?

S ‘ X "
= 5 Sn = 1(3"-1) = 2391484 3= 43§2,969
V= = |
C T 7 Guek wch-ecle
Sn=12 e e 3°-1 _ 2,3q1,4&8¢% .
= 1 "
(=14 le\/e\g}
a"—| = 4F82,968

8
We can use Sigma Notation to represent a series. 25(4)"‘1

means the sum from K= to K=8.
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Z is the 18t capital letter in the Greek alphabet, corresponding to the letter S for word “sum

Example #4: List each geometric series below, then determme the first term and common ratio.
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Homework: p. 360 #1 -11,13,15, MC#1, 2




